
Verb there to be



Look at the examples:

 There is a garage.

 There are big windows.

 There isn’t a fence.

 There aren’t any pets.

 Is there a big lawn?

Yes, there is.

 Are there windows in the first floor?

Yes, there are.



Verb there to be

Affirmative Negative Interrogative

Singular there is … there isn’t … Is there …?

Plural there are … there aren’t … Are there?



Let’s practice….

What can you see in the picture?

a) ___________ big 

windows.

b) ___________ trees.

c) ___________ a 

swimming pool.

d)___________ a big 

garage.

e) ___________ a fence.

f) ___________ two floors.

g) ___________ a big 

garden.

h) ___________ a dog?

No, _______________.

i) ____________ any 

flowers?

No, _______________.

There are

There are

There isn’t

There isn’t

There isn’t

There are

There is

Is there

there isn’t

Are there

there aren’t


